3560 ppm CH,O in N,, ® = 0.51, p = 1.0 atm, T = 944 K
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3560 ppm CH,O in N,, ® = 0.51, p = 1.0 atm, T = 944 K
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3560 ppm CH,O in N,, ® = 0.51, p = 1.0 atm, T = 944 K
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3480 ppm CH,O in N,, ® = 1.56, p = 1.0 atm, T = 944 K
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3480 ppm CH,0 in N,, ® = 1.56, p = 1.0 atm, T = 944 K
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2080 ppm CH,0 in N,, ® = 0.013, p = 1.0 atm, T = 944 K
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2080 ppm CH,0 in N,, ® = 0.013, p = 1.0 atm, T = 944 K
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2390 ppm CH,OinN,, ®=0.7, p=1.0 atm, T =944 K
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2390 ppm CH,OinN,, ®=0.7, p=1.0 atm, T =944 K
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2340 ppm CH,O in N,, ®=0.88, p = 1.0 atm, T = 1095 K
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2340 ppm CH,O in N,, ®=0.88, p = 1.0 atm, T = 1095 K
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